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36-1 | =i~z AREE | DFR 311 13 H26.6.1 5 3 0 0 6.8 0.9 11.8 3.9 | &
36-2 | A fii H A | WST | 1,617 81 $62.9.1 6 4 0 0 8.4 0.0 14.4 4.0 | &
36-3 |JLiEB A | JSE | 1,662 34 H5.7.21 5 4 0 0 10.7 3.1 15.7 7.1 | 4
36-4 |3t O | Pk 88 9| $59.4.24 0 0 0 0 0.0 0.0 0.0 0.0 =] 7.1 00| O
36-5 | Zhk O | Pk 240| 28| $63.10.4 0 0 0 0 0.0 0.0 0.0 0.0 =] 6.3 00| O
36-6 | HUFIH Zofh| P 236| 22| $63.10.4 0 0 0 0 0.0 0.0 0.0 0.0 =] 6.3 00| O
36-7 | )i O | Pk 228 8 H4.2.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 7.9 00| O
36-8 | SHIICIBLY T T | Zofh | DFak 39 0 R1.8.17 0 0 0 0 0.0 0.0 0.0 0.0 =] 5.7 00| O
37 |\#imh 4 2 1 1| 100 0.4 15.0 34 9.4 8.1
37-1 |\ A | OF% | 1,275| 70| S58.5.17 4 2 1 1| 10.0 0.4 15.0 3.4 5] 0.0 0.0
37-2 |\ ARRE | PR | 1,231] 101 H12.4.1 0 0 0 0 0.0 0.0 0.0 0.0 5] 9.4 8.1 O
38 |ZNIH o] of of o 0 0 00| oo| | ar0] 230
38-1 | &I~z AREE | PRk | 2,271] 138 H11.6.1 0 0 0 0 0.0 0.0 0.0 0.0 5] 24.0 150 O
38-2 |1RHEH Oy | PRk 507| 28| H3.12.24 0 0 0 0 0.0 0.0 0.0 0.0 5] 13.0 8.0 O
38-3 | LAY i 187 14 $62.5.1 0 0 0 0 0.0 0.0 0.0 0.0 5] RS LM O
384 |JHH1X orfE | R 100 6| HI15.7.19 0 0 0 0 0.0 0.0 0.0 0.0 5] (A= 5 O
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XIERE 4 fHfH | AR | AR | S B 7% 7% 7% 9% o % o
() | () | AR gl |a9& GES e | OO | g | TR
39 |k 8 4 0 0| 215 26.3 355 | 303
39-1 |Fyti ARfE | PR | 1,694 65 $58.8.2 6 4 0 0| 183 17.1 243 | 211 | £
39-2 | A DS 581| 65| H28.11.3 2 0 0 0 9.2 9.2 11.2 9.2 | %
40 | 9 3 0 0 6.7 0.0 15.7 3.0
40-1 BTNz AEE | ST | 1,811 94| S54.6.10 9 3 0 0 6.7 otk 15.7 3.0 | %
40-2 |Gl DS 25 8| S5L.12.1 0 0 0 0 0.0 0.0 0.0 0.0 | %
40-3 |4k | DR 128 20| S55.11.1 0 0 0 0 0.0 0.0 0.0 0.0 | %
40-4 | #imT oyl | DFk 37 8| S54.11.3 0 0 0 0 0.0 0.0 0.0 0.0 | %
W 591 | 315 [ 37 4| 3743 | 1525 | 1,002.3 | 4715 1,089.3 | 649.1
41 |{ReERHET 0 0 0 0 0.0 0.0 0.0 0.0 11.0 8.0
41-1 |FHZEIyar AR | ST 808| 36| $62.7.25 0 0 0 0 0.0 0.0 0.0 0.0 =) 11.0 80| O
41-2 | SNV TEBE oyfE | DRk 192| 22| H23.12.21 0 0 0 0 0.0 0.0 0.0 0.0 =) ok soik| O
42 |INEEFET 2 2 1 0 3.0 2.4 6.0 4.4
42-1 |/NEEEFHT ST AR | DR 380| 24 H9.4.1 2 2 1 0 2.4 2.4 5.0 4.0 | %%
42-2 | by DS 10 0 R2.7.1 0 0 0 0 0.6 0.0 1.0 0.4 | %
43 [/NI[ET AfE | $h3r | 3,072| 320 H13.5.10 6 3 0 0 8.0 2.2 14.0 52 | 4E
44 |#RLHET AfE | $h3r | 1,092| 60| S60.7.23 1 1 0 0 49 0.0 5.9 10 | 4
45 | #)IIET 0 0 2 0 5.5 0.0 7.5 0.0
45-1 [Hrgess Zoft| Bk | 2,158 16 H1.5.25 0 0 2 0 3.0 0.0 5.0 0.0 | %
45-2 | Shdbt ZOML| PFE% 25 8 H8.5.1 0 0 0 0 1.3 0.0 1.3 0.0 | %
45-3 | #iRZ H i) ZOML| PFE% 100 10 H30.4.1 0 0 0 0 1.2 0.0 1.2 0.0 | %
46 | EAT AfE | Bk | 1007 70 H5.4.1 o] o] o] o] oo| o0 00| oo Efl e8] 42| O
47 |l mHAT AAE | WL 867| 57| S61.9.13 1 0 1 0 6.5 2.6 8.5 26| &
48 |BFHET 5 2 2 0 24 24 9.4 4.4 15.8 5.6
48-1 | K FNTSL KA | PFR% | 2,108 158 H18.3.3 5 2 2 0 2.4 2.4 9.4 4.4 EZ) 7.8 5.6
48-2 | LIy ZOML| PFR% 66| 11 S55.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =) 0.0 sofok
48-3 |FLA ZOML| PRk 52 9 $59.1.1 0 0 0 0 0.0 0.0 0.0 0.0 =) 2.0 sofok
A M| PFE% 36 6 $59.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =) 2.0 sofok
48-5 |JRIN ZOML| PFR% 53 6| $56.10.1 0 0 0 0 0.0 0.0 0.0 0.0 =) 2.0 sofok
48-6 |PHLA ZOML| PFR% 52| 12 H2.5.1 0 0 0 0 0.0 0.0 0.0 0.0 =) 2.0 sofok
49 |EEHHHET 1 0 0 0 1.5 1.8 8.5 1.8
49-1 | EEDVDITAL A | DR 718 42 H7.2.28 1 0 0 0 5.7 1.8 6.7 1.8 | 4
49-2 |HR5)1128 FOfh | Pk 125 8 $55.8.1 0 0 0 0 1.8 0.0 1.8 0.0 | %
50 |fiMHET ZDOMh| B 50| 8| S57.7.15 o] o] 2 0 2.0 0.0 4.0 0.0 | &
51 |iBJIAT AAE | WL 936| 42 $62.4.1 2 1 0 0 3.0 0.0 5.0 10| %€
52 | JMLLIET AAE | WL 919 12 H1.8.2 3 1 0 0 2.3 1.2 5.3 22| 4
53 |RIXH AfE | B 121| 18| $56.5.17 0 0 0 0 0.6 0.0 0.6 00 | %
54 | ¥MRET 0 0 4 1 3.0 1.0 7.0 2.0
54-1 | gLy Zofh| Pk 60| 18 HL.7.1 0 0 3 1 1.5 1.0 4.5 2.0 | 4
54-2 | ZIARAFER | Zofh | Pk 52 4 H30.4.1 0 0 1 0 1.5 0.0 2.5 0.0 | 4
55 |SEHT AfE | pEER 524| 18 H12.4.1 o] o| 3 0 3.2 0.0 6.2 00 | %
56 |EFEREr T HFE 96| 12| $S47.3.25 3 0 1 0 0.0 0.0 40 00 | %
57 |E{RHT AfE | Bh3r | 2818] 155 H6.1.23 0 0 0 0 0.0 0.0 0.0 o.oE 17.0 140| O
58 |=5Hr 6 3 0 0| 169 12.6 229 | 156
58-1 | g AfE | MRSZ | 1,305 54 H2.7.24 6 3 0 0| 15.7 11.4 217 | 144 | 4
58-2 | PTI#IR Sy Oy | DR 25 0 H8.7.20 0 0 0 0 1.2 1.2 1.2 1.2 | 4
59 |E& LA AfE | M3 | 1,629| 64| S61.9.30 0 0 0 0 0.0 0.0 0.0 o.oE 11.2 35| O
60 |HRERAT AfE | B 337| 38 H2.6.8 0 0 1 0 2.6 0.8 3.6 0.8 | &
61 |HERHT AfE | BEER | 1,167| 144 R3.7.22 2 1 0 0 4.0 0.0 6.0 1.0 | %€
62 |Z¥/EAT AfE | Bhir | 2,546 112 | H11.10.26 5 1 0 0 6.4 1.0 11.4 20| fE
63 | LLAT AfE | ¥hir | 1,962 70| H11.10.7 5 3 0 0 5.2 0.0 10.2 30| 4
Br# & 42| 18| 17 1| 8170 28.0 1460 | 47.0 64.8 35.3
akt 752 | 421 | 82 6| 483.0 | 1839 | 1,297.0 | 610.9 1,166.1 | 694.4
MR, Tk B BT E R O$ A TR L QA Crilan xR Lok iR a2 55 0385, ).
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